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Ответы

об. 56

1. 117

2. 78

3. 105

4. 52

5. 112

6. 65

7. 112

8. 90

9. 126

10. 108

Используйте распределительный закон при решении.

об) 4 × 14 = (4 × 9) + ( 4 × 5 )
=

5636 + 20

1) 13 × 9 = (4 × 9) + ( 9 × 9 )
=

11736 + 81

2) 6 × 13 = (6 × 8) + ( 6 × 5 )
=

7848 + 30

3) 7 × 15 = (7 × 5) + ( 7 × 10 )
=

10535 + 70

4) 13 × 4 = (3 × 4) + ( 10 × 4 )
=

5212 + 40

5) 7 × 16 = (7 × 6) + ( 7 × 10 )
=

11242 + 70

6) 13 × 5 = (6 × 5) + ( 7 × 5 )
=

6530 + 35

7) 16 × 7 = (6 × 7) + ( 10 × 7 )
=

11242 + 70

8) 18 × 5 = (8 × 5) + ( 10 × 5 )
=

9040 + 50

9) 14 × 9 = (6 × 9) + ( 8 × 9 )
=

12654 + 72

10) 9 × 12 = (9 × 9) + ( 9 × 3 )
=

10881 + 27
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